& calflﬂatg th

havj % ratio OR) (th
N8 low sap intake) " (the odds or having high sait ;
intake to the odds of

Oﬂ.—. A I“'é?

Lad
‘M 20 X100 . 25 C2% /
- S e - .

b. g v
What does thig mean? e

"

i 2 Sed b jvrtake.

3. Inastug
; Y of a certain dice
190 acrone . __rta".'.dlﬁfase among 2350 factory workers, it was found that a total of
rs developed arthritis. A standard population was selected and the

number of arthri _
_ Qf-afth"ﬁs Cases and the population distribution in the different age groups is
given in the table below.
Study Standard population
[ population
Ag& Number of Number Number Age specific Expected
menin with of men rate {Mx) for cases
factory arthritis standard
15-24 ] 700 [ 5 2000 2.5 X\0">? \ 1.75 \ -
[ 25-34 | s00 | s0 4000 0.0125 7625 | —
/ 35-44 | 550 100 5000 0.02 | ?\ "
45-54 / 400 208 5200 0.04 \ ) \ >,
/ 55-64 | 200 ! 600 6000 0.1 \ 20 \
55
/Tota ; [ 2350 [ 963 22200 \ \

a. Which method was used to obtain the expected cases?

i.  Direct standardization >
@ Indirect standardization '/
b. Complete all the four missing gaps in the table
¢. Calculate the standardized morbidity ratio (SMR). SMR=__ &, 5%'2 \,(

d. Interpret the result obtained




. An excess disease
\ normal disease

f the following data is collected once in 10 years or once in five years?

;'Ténihfthﬁsé infected develop the clinical disease, what would you say?

ion of those developing the clinical disease become very ill, what would
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age pf Giimcai d;sease




a. 70% of the patients maintain balanced diet
70% of the patients maintain unbalanced diet
C. The agreement between the clinical nutritionists is moderate
(@ The agreement between the clinical nutritionists is good

16. Which of the models of Causation gives an important role to the ‘genetic core’?
_A. Germ theory
f,»’“ b. Triad model of causation
€ Wheel model
d. Web model of causation

17. Which of the models of causation is expressed in terms of the relationship between the
host, agent, and environment?
a. Germ theory
/" (B) Triad model of causation
¢. Wheel model
d. Web model of causation

18. According to the ‘sufficient-component’ model of causation, what is the name of the
factor that is present in all cases of a disease but is not the only factor present?

a. Sufficient cause
b. Unique cause

(©) Necessary and sufficient cause
» d. Necessary but not sufficient cause

./hich of the following is__*_:_rjy‘e about an ecological study?
It uses individuals as the unit of study
b. It is a descriptive study

¢. It suffers from ecological bias
d. It uses populations or groups as units of analysis

20./Which of the following is not an analytic study?
a. Ecological study

| @ Descriptive study
c. Cohort study

d. Case-control study







*- | Year [ Number of new cases of pancreatic
el 100
1981 120
1982 140
In addition,
n at the beginning of 1980= 200 000

n at the end of 1982= 300 000
he following:

The total number of new cases during the period 1980 to 1982= #=* Wieoes 5 =
The mid-interval population (average population) =_ 25200 2o e

Tamal person-years for by this average population=_240%0 x3 = 75 0 coe

L e E = = :
person time rate for pancreatic cancer= ﬁ : o.00048
oo &

In a hospital, 1200 babies were born during a year. Of these, the number of deaths are

Number of deaths

ncy to just 30
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30 years, it was found that the 25 of the

€ cancer while five (5) of the school
ped bone cancer. Which kind of study is this?
4. Case-control study

b. Cross-sectional study

() Ecological study
‘ d. Cohort study

teachers develo

25. In randomized controlled triais,
group” and ‘control group’?
Recruitment
b. Informed consent
Allocation

d. Measurement

at which stage are the participants separated to ‘study

26. Which of the following is not true about cohort study?

a. [Itcan be done prospectively (present to the future)
@ It can be done retrospectively (present to past)

»C. It allows you to start with those with the disease and

then investigate the exposur
d. It allows you to estimate incidence rates

5
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following (you can leave your answer in fralcf/mvﬁs 20/50)

4. Neg :
4 natal mortality rate= %—ﬁ‘ /
c- | st-neonatal mortality rate= ‘%b'.'%
- Infant mortality rate= s L l/
Foxt=e [ge =
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tyand (1-specificity) for a certain test.

\What is the name of

Fig 1 belo
W sho e
this graph? ?:cg”"”‘ of sensitivi
L -]

RSC
N o

v

©

2
> &
£3
= a
5 o
g 32
3

1=specificity (false positive rate)

_ At which point (i Fig. 1) is the sensitivity low?
A

b. B

(A

14. At which point (in Fig. 1) is the test good?




4. The table shows the relationship betwe
cohort study

—= # ) e W D_i;ea_:.e e "'|'__ _"_"]I
e |
I— | .| |_Lng cancer | No Lung cancer | Total
{ Exposure | Smﬂkﬂ? 1 80(a) Uned 2015(_b) 4\780
|__ | N NOH sr'nokers __LE(C) 450 (d} 49{]

L Total E{E | 650 1000

a. Calculate the relative risk (RR) (the risk of cancer among those smoking to those not
smoking)

RR=_3.5 "

b. What does this mean?

SmoKers have highey felajive visK acttive, \uwe coucel
o =, e |

by 3.5times  wore them non-Suckeys.

Part 3: Answer any two questions
—t

Discuss the benefits and problems of national statistics on causes of death

-‘Hl:nl'l

6. Discuss the similarities and differences between direct and indirect standardization

7. What is a confounding variable? How do we control for the effect of confounding

variables?

8. What is screening? What are the benefits of screening?

9. What do we know about the epidemiological profile of Saudi Arabia

10. Discuss the challenges of nutritional epidemiology
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8. The table shows the refationship between hypertension and saltint

FE IS Y

~ [Ewosure High salt intake | 50 (a) 40 (b) %
e | Low saltintake | 20 (g) 100 (d) 120
B 70 140 210

The odds ratio (the 0dds of having high salt intake to the odds of having low salt
intake) S EESES re
e g

'h = o - 95

AR

2. What does this mean?

" 9. List any three problems encountered with national statistics on causes of death
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